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[ 1] A=8 2P 8 #2555 H
(B9l B, 7t %)
=ad EEXES

N —— — ————————————————
AT £ S AN S | AR 4+ mas| T+ mpE| AN+ zus

H= | 50,061,763 21,932,739  19,845399 | 47,390,115 947 | 20,739,314 94.6 | 18,620,249 . 93.8
ME | 9257937 4,178,144 3,331,309 8,933,301 96,5 | 4,036,942 966 | 3,204388 96.2
S41 3219921 1,442,240 1,369,515 3,052,809 948 | 1367437 948 | 1293904 945
CH 2,319,727 = 1,011,013 837,784 2,196,829 947 957,203 . 947 790,332 . 943
oI 2,877,096 1,212,267 | 1,153,644 2,740956 = 953 | 1,153,225 951 | 1,094,768 949
a5 1,425,767 624,069 559,110 1,340,949 . 94.1 586,691 94.0 524,690 938
CHH 1,424,193 646,492 513,978 1,338,466 | 94.0 607,336 93.9 477946 ¢ 93.0
= 1,087,266 458,242 410,132 1,008,157 . 927 425,188 928 377,630 . 92.1
ME 356,236 146,883 147,174 314,081 . 88.2 129,784 884 129,373 1 879
47| | 13,245532 5465007 4919679 | 12,857,529 97.1| 5303209 97.0| 4748196 965
g8 1,461,820 679,642 670,598 1,308,302 | 89.5 607,950 895 591,838 883
5 1,555,144 710,084 667,992 1,438,850 | 92.5 655,738 . 923 610,514 . 914
s 2,077,541 941,894 909,525 1920473 924 870,024 . 924 833,583 . 91.7
"= 1,712,043 782,986 765,136 1,564,643 . 914 714,519 1 913 690,976 . 90.3
e 1,701,120 785,527 837,357 1,492,478 | 877 685953 . 873 727,383 86.9
8= 2,510,026 1,171,641 . 1,134,482 2,312,346 . 921 | 1,077,741 920 | 1,034,257 912
dE | 3182537 1400131 1,350,688 | 2984297 938/ 1310059 93.6| 1249673 925
NS 647,857 276,477 267,296 585649 904 250,315 905 240,798 = 9041
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NE = 885 889 883 oI & 955 955 952
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=H 917 915 902 - = 931 930 932
. = 95.1 950 940 =M 875 875 875
=H 924 923 912 - = 941 942 937
S e = 885 889 887 =H 894 894 889
Mg = 941 941 933 - & 9.0 960 958
ey | 84 = 943 942 935 =H 90.5 905  90.0
OItE |y = 945 945 944 - = 928 927 928
oIH & 963 963 963 o =H 90.1 903 897
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Fa EAERE ANFYC 95Y 0, £FE°] Oi Be FF
(89.3%)°l AR T2 EAd A= & AoVt =
[# 3] ZRCHI #E2FEE H
(Etel - &, 717, %)
T = =Ee BHEFEES
T-H| T8 TSHE
ol 50,061,763 100.0 47,390,115 100.0 947
A 24,849,731 49.6 23,517,641 49.6 94.6
Of Xt 25,212,032 50.4 23,872,474 50.4 94.7
0-9A| 3,757,375 7.5 3,573,552 7.5 95.1
10-19A| 4,398,778 8.8 4,173,059 8.8 94.9
Q17 | 20-29A 6,293,046 126 5,985,599 126 95.1
30-39A 6,765,098 13.5 6,446,993 13.6 953
40-49M| 7,984,638 15.9 7,583,200 16.0 95.0
50-59A 8,469,618 16.9 8,009,053 16.9 94.6
60-69A| 6,993,726 14.0 6,576,573 13.9 94.0
70M+ 5,399,484 10.8 5,042,086 10.6 93.4
bt 21,932,739 100.0 20,739,314 100.0 94.6
19 7,401,840 337 6,992,904 337 945
20l 6,209,222 283 5,847,347 28.2 94.2
b 3¢l 4,227,584 19.3 4,010,656 19.3 94.9
49l 3,180,054 14.5 3,024,145 14.6 95.1
501+ 914,039 42 864,262 42 94.6
N 12,046,477 54.9 11,355,743 54.8 94.3
AN == 19,845,399 100.0 18,620,249 100.0 93.8
Chs 3,861,411 19.5 3,513,211 189 91.0
ABtCHS 2,619,859 13.2 2,339,842 126 89.3
CHot=t 793,487 40 753,560 40 95.0
IHEE 448,065 2.3 419,809 2.3 93.7
45 OtLIE 12,021,059 60.6 11,325,645 60.8 94.2
-60m’ 4,930,830 24.8 4,634,818 249 94.0
60-85m’ 5,399,309 272 5,090,082 273 943
85-102m’ 405,293 2.0 383,612 2.1 94.7
102-135m’ 981,198 49 930,837 5.0 94.9
135m'+ 304,429 15 286,296 15 94.0
AE 2,778,815 14.0 2,651,468 14.2 95.4
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At 406 | 497 | 496 496 496 | 496 496 496 496 496 | 503 503 502 503 503
X} 504 | 503 | 504 @ 504 : 504 | 504 : 504 : 504 504 : 504 | 497 497 498 497 497
0-9A 75 75 75 75 75 74 74 74 74 741 102 104 103 103} 104
= | 10-19A4| 8.8 8.8 838 838 838 8.8 8.8 838 838 838 76 76 76 76 76
20-294 126 | 126 126 126 0 126 | 125 125 125 125 125| 160 159 160 161 : 159
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40-49M| 1591 160 159 160 159 | 159 160 159 159 159 | 162 163 163 162 163
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50% O|2to|HA " 83E 50% ol&tel 22 50%=2 A&
o« ZARTLY O £& JESE 182 HE
* *% = O —
o wid 45727t (239 45837k ) TSRS FRE J|E BATT
=z, = 2~ = (e = = s =
F=27H & GRSt AA 6,757+ FE
x HEFAT 117122 ARY), LHtottE 107 H{198=AFY), CHEOHIIE 67 FH25=AY 7=
x* '23A S A2 QS EFEZAIT FIE QS0 2440 HES AT 2237l F&E
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[H 8] HASY =& 71+ =
234 244 SEHE(%) Mz
ZRAPLEF | X A}LEF Al 25 '— Ak
2z agps | FUIE FHIS o lawan §F | RE s AR
It It " (s'4a)
A 446 - - - - - 4,583 6,752 18,204
M2 = 23 16 16 61 61 230 368 865
4t = 13 13 13 72 76 130 169 570
o o+ 5 13 14 14 68 70 130 182 522
at ol S 12 15 15 62 66 120 180 404
of| BF = 11 13 13 74 74 110 143 452
I} CH 7 = 12 14 14 68 71 120 168 462
= =4 = 7 13 13 73 78 70 91 318
M= = 5 15 15 67 66, 50 75 180
= 1 15 16 1 60 66 10 16 38




234 244 SEHE%) Az
= C —_ —
g anrs | FAI9 FII9 o lawwp 01 | BE 2e B
T= T= =1 EEEE _ i T 'H'E T
7t 7t ° gz (549)
%47 = 25 14 14 69 71 250 350 990
° =M 4 14 14 70 72 40 56 176
PIy S 8 14 14 77 70 80 112 304
== =M 2 18 18 75 67 20 36 80
o & 7 13 13 74 72 70 91 253
o= =M 2 14 14 64 75 20 28 95
Lt = 6 15 16 1 60 62 60 9 216
i =H 4 16 16 67 63 40 64 156
X e & 10 13 13 72 74 100 130 400
B SH 1 15 18 3 47 50 10 18 46
XLt & 6 13 13 72 77 60 78 273
== =H 2 12 14 2 67 80 20 28 92
. = 7 15 15 70 66 70 105 257
e =M 2 15 15 67 73 20 30 94
L = 9 13 15 2 62 72 90 135 368
°e =M 3 14 14 67 67 30 42 113
SIS S 3 13 13 69 72 30 39 119
M2 S 7 14 14 44 43 42 98 155
g4t = 2 12 12 79 55 12 24 45
O oo = 2 11 11 55 63 12 22 55
i ol S 1 12 12 67 62 6 12 21
o+ HF S 1 12 12 75 68 6 12 27
E CHH 5 1 18 18 50 52 6 18 31
=4t = 1 12 12 67 61 6 12 27
47| S 10 10 10 58 61 60 100 239
M2 = 36 18 18 59 61 396 648 1,502
At = 14 15 15 76 75 154 210 651
O+ 5 13 16 16 70 69 143 208 578
QI S 11 17 17 63 62 121 187 430
IF S 7 16 18 2 53 65 77 126 308
CH 7 = 10 17 17 66 67 110 170 472
=4t = 7 16 16 70 68 77 112 305
ME 5 3 18 18 57 60 33 54 123
247 = 20 17 17 60 62 220 340 791
° =49 5 15 15 85 75 55 75 240
o = 7 15 15 73 72 77 105 248
°= =H 6 14 16 2 61 76 66 96 286
s z2 B 4 17 18 1 59 6 44 2 TS
© SH 5 15 18 3 49 50 55 90 238
=Ly & 4 18 18 72 58 44 72 170
e =M 9 15 15 79 76 99 135 446
o) & 6 16 16 66 66 66 9 263
- =M 6 13 13 83 83 66 78 292
XLt & 4 14 14 84 77 44 56 175
- =M 10 13 13 77 81 110 130 471
. & 6 17 17 68 67 66 102 251
e =M 8 14 14 76 76 88 112 364
P = 7 17 17 71 65 77 119 293
ce =M 6 14 14 80 78 66 84 276
e & 6 16 16 77 74 66 9 289
=M 3 14 17 3 60 71 33 51 124
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o F8 EAHEE REFEEF ZAHOE FLF ZXEE U
[ 9] T8 S48 HE2FE=4 #&2 22 H|W

(Bt F, 7t %, %p)
o EEFEE EE

= TH1A) T9H|(B) X}0|(B-A)

el =+ 47,390,115 100.0 61,404 100 -

A 23,517,641 49.6 30,414 495 -0.1

Of K} 23,872,474 50.4 30,990 50.5 0.1

0-9A 3,573,552 75 4,359 7.1 -0.4

10-19A 4,173,059 8.8 5,476 8.9 0.1

ol 20-29A 5,985,599 12.6 7,760 12.6 0.0

30-39A 6,446,993 13.6 7,644 12.4 -1.2

40-49A| 7,583,200 16.0 9,556 15.6 -04

50-59A 8,009,053 16.9 10,760 17.5 0.6

60-69A 6,576,573 13.9 8,896 14.5 0.6

70A] + 5,042,086 10.6 6,953 11.3 0.7

bt 20,739,314 100.0 26,949 100 0.0

19! 6,992,904 337 9,069 337 0.0

29 5,847,347 28.2 7,718 28.6 04

7t 3¢l 4,010,656 19.3 5,189 19.3 0.0

49! 3,024,145 14.6 3,845 14.3 -03

501+ 864,262 42 1,128 42 0.0

Xp7t 11,355,743 54.8 15,153 56.2 14

HA == 18,620,249 100.0 23,716 100 0.0

th= 3,513,211 18.9 5,454 23 4.1

YBtEHS 2,339,842 12.6 3,666 15.5 2.9

CHobt 753,560 40 1,156 49 0.9

L8 419,809 2.3 632 2.7 0.4

A Ot E 11,325,645 60.8 14,170 59.7 -1.1

-60m’ 4,634,818 24.9 5,653 23.8 -1.1

60-85m’ 5,090,082 273 5,587 236 -37

85-102m° 383,612 2.1 346 15 -06

102-135m’ 930,837 5.0 1,549 6.5 15

135m'+ 286,296 1.5 1,035 4.4 2.9

AE 2,651,468 14.2 2,760 11.6 -2.6
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[E 10] &A TEE
x5 xz
T e HE = It HE
7t Tt
Ne& 5 1622552 1,394 M8 5 2326029 2311
HAL B 745,597 756 HA B 579,297 707
e = 518,510 767 e = 405,440 802
X = 619,551 739 oF = 514,140 667
EESE 378,173 660 nx = 194,903 427
e = 321,373 809 e = 273,575 638
=4 = 247,501 361 =4t = 170,430 479
M = 89,526 362 NE gu 27,399 193
°  gH 12,859 76 23] = 1733417 1,335
23] = 2541593 1,610 ° S® | 533,954 299
T g® | 363974 223 e S| 4TTTT a2
al = 228,429 458 ST o | 167,444 319
Hi EH =)
N = 64,300 87 2l L. 5 152,385 213
(o] = =| & o
O | oo = 232,103 444 S =3 175,167 327
S
E|°7 2@ | 9083 81 o, 5| 154433 267
= S o o o
- 254,203 351 s® | 307,221 512
ST 2o | 154167 192 w5 | 196627 344
=
i S 320,495 574 =M | 165612 315
-7 so 31,785 65 R 107,529 221
= 198,241 375 ST s® | 286438 494
My
= 93,745 117 " 5 252,898 318
= 317162 479 ST 2o | 366272 514
=9 | 141,409 69 N 330,049 445
= 514,722 620 ST gmM | 284,343 371
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